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Find the anti derivative of the following with respect to x:

( i ) ( 2 – 3 sin x ) / cos2 x 

[ TB 299 / 20 ]

( ii ) tan x



[ TB 301 / ( i ) ]

( iii ) 1 / sin ( x + a )


[ TB 303 / ( ii ) ]

( iv ) x3 sin ( tan – 1 x4 ) / ( 1 + x8 )
[ TB 305 / 37 ]

( v ) 1 / ( 1 + cot x )


[ TB 305 / 32 ]

( vi ) √ tan x / ( sin x cos x )

[ TB 305 / 34 ]
( vii ) cos 2x cos 4x cos 6x

[ TB 307 / 3 ]

( viii ) ( cos 2x + 2 sin2 x ) / cos2x 
[ TB 307 / 18 ]

( ix ) 1 / [ cos ( x – a ) cos ( x – b )]
[ TB 307 / 22 ]

( x ) 1 / ( a2 – x2 )


[ TB 308 / 2 ]

( xi ) ( x + 2 ) / ( 2x2 + 6x + 5 )

[ TB 313 / 10 ]

( xii ) 1 / ( √ ( 7 – 6x – x2 )

[ TB 316 / 12 ]
( xiii ) ( 5x + 3 ) / ( √ ( x2 + 4x + 10 )
[ TB 316 / 21 ]

( xiv ) {( x2 + 1 ) ( x2 + 2 )} / {( x2 + 3 ) ( x2 + 4 )}
[ TB 323 / 18 ]

( xv ) x cos–1 x / √ ( 1 – x2 )



[ TB 327 / 11 ]
( xvi ) ex { ( 1 + sin x ) / ( 1 + cos x )


[ TB 328 / 18 ]

( xvii ) √ ( x2 + 3x )




[ TB 330 / 8 ]

( xviii ) √ ( 1 + 3x – x2 )




[ TB 330 / 7 ]
( xix ) √ ( x2 – a2 )




[ TB 328 / 7.6.2 ]
( xx ) sin–1 { 2x / ( 1 + x2 )



[ TB 328 / 22 ]


